& \NEPOINTE
S ONEPDINTE SOLUTIONS

LABCONCO CORPORATION 8811 Prospect Ave, Kansas City, MO 64132
(816) 333-8811 or (800) 821-5525 « (816) 363-0130 fax * labconco.com

Ceiling Enclosure Kit Installation

fLeft Inner Side Panel These parts are provided with the left
3 side ceiling enclosure Kit.
Left Outer Side Panel NOTE: Install front enclosure before
installing side enclosure. For side
Left Rear Support enclosure instructions see page 3.

Bracket

Right Inner Side Panel
These parts are
Right Outer Side Panel |— provided with
the right side
Right Rear Support ceiling enclosure
Bracket kit.
NOTE: Install

ﬁ front enclosure
(

2

before installing
side enclosure.
For side
enclosure
instructions see
pages 3.

[/ A— L 4

Right Front Support Bracket

Front Outer Panel These parts are provided with the front ceiling

Front Inner Panel enclosure Kit.
Left Front Support Bracket J

NOTE: Install front enclosure before installing
side enclosure. See instructions on page 2.

Labconco Instruction Sheet 9493000, Rev A, ECO K839 l1of3



Front Panel Installation

1. Remove the front panel from the fume hood and lower sash.

2. Assemble the front inner panel to the front outer panel with flat washers and keps
nuts, as shown.

3. Install left and right front support brackets to the ceiling enclosure front assembly
using #10-24 keps nuts.

4. Drop assembly down into corner posts and fasten with #10-24 x .50 screws.

FASTEN WITH _~

#10-24 X 50 SCREWS
(2) EACH SIDE

LIFT INNER PANEL TO
PROPER HEIGHT, THEN
TIGHTEN KEPS NUTS ONLY
UNTIL SNUG.

CAUTION: OVERTIGHTENING
WILL DENT THE EXTERIOR
PANEL.

FRONT INNER PANEL

!

FRONT RIGHT

SUPPORT BRACKET
#10-24 KEPS NUT-’\/
(2) EACH SIDE
TO ATTACH
TO SIDE PANEL

#10-24 KEPS NUT J

(2) EACH SIDE
(LOWEST HOLE IN
BRACKET)

TO ATTACH FRONT PANEL VIEW A
TO SUPPORT BRACKET

#10-24 KEPS NUT

#|0 FLAT WASHER

FRONT OUTER PANEL

Labconco Instruction Sheet 9493000, Rev A, ECO K839 20f3

A
243



Side Panel Installation

NOTE: Install the front ceiling enclosure kit before installing the side ceiling enclosure
kits.

The following instructions show the right side of fume hood. The left side enclosure kit
installs in the same manner.

1. Remove the hood side panel.

2. Assemble the right rear support bracket to the right outer panel with (2) #10-24 keps
nuts.

3. Assemble the inner side panel to the outer side panel with flat washers and keps
nuts as shown below.

4. Assemble the side panel assembly (with inner panel pre-assembled to outer panel)
and support bracket to the rear vertical channel and front panel assembly, using
hardware as shown below.

5. Adjust the inner panel height to same height as front panel and tighten the two keps
nuts. Secure with #10 x .50 Type AB screw.

#10 X .50 TYPE AB SCREW
CAUTION: DO NOT OVERTIGHTEN! EVEN HEIGHT
OVERTIGHTENING WILL DENT THE EXTEROIR SURFACE. ‘

USE SLOTS CLOSEST TO REAR #10-24 KEPS NUT
SUPPORT BRACKET ON LEFT SIDE /‘-\ (2) EACH
RIGHT INNER PANEL .
#10-24 KEPS NUT

USE SLOTS AWAY FROM REAR
SUPPORT BRACKET

ON RIGHT SIDE

DO NOT TIGHTEN

KEPS NUTS AT THIS TIME)

#10 FLAT WASHER

RIGHT OUTER PANEL i

o2

#10-24 KEPS NUTS
12) EACH
RIGHT REAR SUPPORT BRACKET
#10-24 X 50 SCREWS —

REAR VERTICAL CHANNEL N8

Labconco Instruction Sheet 9493000, Rev A, ECO K839 30f3

A
243



